DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Division Name:
Time: Score: A
o —1476 + 10 = 16 38050 + 5 =
) 99 = 5 = 11 —15.387+ 0.3 =
3 445 +2 = 8 —319.32 + (—6) =
9 41.292 +0.9 = 19) 28.08 + 2 =
5 85.04 + (—4) = 20) —528.36 + (—0.06) =
0 —112+5= 2y —=2357+10 =
1 —13.54 + (—0.4) = 2 14945 =+ 5 =
9 7.158 = (—0.3) = 2) —352.8 +6 =
9 6670.8 +9 = 2) —50.74 +2 =
0 24822 + (—6) = 5 —3219.5 + (—5) =
1 =509 + 10 = 26) —194.6 =+ 10 =
12) —414 +5 = 2 107.5 +0.05 =
1) 89.361 +9 = ) (0.746 + (—0.02) =
1 5.086 <+ 0.001 = 20) 356.96 + (—0.8) =
15) 75536 + 8 = 3 —17.636 = 0.2 =
Mathematics: Division - Level 6 - Horizontal - Set 3 2 cul
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